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vs Rifded s Reama B goreh # PRl segea dad L R, wole e agsa o
M R, B A dard N o ¥

In a discrete Linear Shift Invariant system the input sequencelength is L, the impulse response
sequence length is M, the output sequence length N is

a) N =L+M-1
b)N=LM
¢)N=2L+M

d)N=L+2M
Ans 1.a

2.b
3.¢c

4.d

XXX

Status : Answered

Chosen Option : 1

a%amgwmqam‘r%ﬁv ....... gﬁammaﬁﬁmmtl

Device which is not used for lightning protection function is

a) giared/Tranzorbs
b) urqg 3ifFarEs awuF/Metal oxide varistors
¢) 3w fawsta Aa/Gas discharge tubes
d) #ﬂ;r{: drz@/Ferrite beads
x 2.b

Ans

3.¢c

x
l?<4.d
v

O 41 1D--2400524-4-50.
QUESHOMN 1D -0499901T1o9

Status : Not Answered

Chosen Option : --
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Q.3

Ans

dq gmias A Ao Ad & v Pefaf@a 7 #ia v sugea 9ol a6 2
The following is not a candidate material for Laser source in Fiber Optics
a) Nd-YAG

b) He-Ne

¢) 3mta/Argon

d) wrawRA/Phosphorous

X la
/5 2.b
K 3¢
o 4 d

Question ID : 3499531196
Status : Answered
Chosen Option : 4

Q.4

R w7 fAr aRE freety A deear afey 3R 3mafy & & &1 e & w2 R
What is the roll-off rate of voltage gain vs frequency of a second order low pass filter?

a) -6dB/octave
b) -12dB/octave

¢) -6dB/decade
d) -12dB/decade
Ans x 1.a
v
x 3.c
X 4.d
Question ID : 3499531148
Status : Answered
Chosen Option : 2
Q.5

Ans

frfaf@a arvafas e 3T%A x@) = fan ;0>=0} , { =0 ;0<0 } 3N a>0, ... G
feam s &1
The z transform of the following real exponential sequence
x(n) = {a" ;n>=0} , { = 0 ;n<0 } and a> 0 is given by
—lz> 1
e 4

1

-az™?

a)

b)——lz>a

c¢)a forallz

1
—lzl<a
1-azx

X1.a
W20
XG.C
X 4.d

d)

Question ID : 3499531164
Status : Answered
Chosen Option : 2
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Qb gumehr Rrwar sierwr W (2s+)/(s“48s7+165)8, 3uF IR W @ 3w Aw
frafafaa 7 s &2

Which of the following is the final value of the impulse response of the system whose transfer
function is (2s+1)/(s*+8s3+16s%+s)

a) 3=Ta/Infinity
b)3
c)2
d)1
Ans x 1.a
S 2.b
K 3¢
o 4.d

Question ID : 3499531175
Status : Answered
Chosen Option : 4

Q7 Em A, 2X2 ARE ¥ AR Al 25, |SAjET ¥2(| | GRFO # Rt S 2)
If A is a 2X2 matrix and |[A[= 25, what is |SA|? (| | denotes determinant)
a)5s
b)25
c)125
d) 625

Ans X" 1.a
XZ.b
XS.C
o 4d

Question ID : 3499531204
Status : Answered
Chosen Option : 4

°° o s S % T T R @ Y

In object oriented programming, what is the relation of an object to a class

a) FE, T FT UFH IS0 /class is an instance of an object
b) a¥d, ¥ F TF aeid g/object is a child of a class
¢) I, FH #1 TF T g/object is a method of a class

d) %, FAH F TH 3BT F/object is an instance of a class

Ans X1.a
X 2b
XB.C
Ij4.d

Question ID : 3499531168
Status : Not Answered
Chosen Option : --
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Q9 BIT & 39dr at@aren RC &ar (o) Reugs afey & fgds dead ol yads @FEm &
FAI(HH) Y ... ¥ frenfa #var §, gef aree gl 3

In an RC phase shift oscillator using BIT, oscillations happen at the frequency where the
feedback network shifts the phase of the amplifier output by

a) 60°
b) 90°
)180°
d)360°

Ans x1_a
S 2.b
3¢
x4.d

Question ID : 3499531180
Status : Answered
Chosen Option : 3

Q.10 Feak A 3R B & Al garr 2 aw § 3R nfea ¥ 5 dead B & urr 7 deear & gar
M| 3W 3 § Acad A F 38H NfAT wges wRey F @y sfaenfa fRr o aFar @

Networks A & B are connected by two conductors and it is required to find out the currents
and voltages in network B. For this purpose Network A can be replaced with its Thevenin
equivalent circuit unless

a) zuH &% Hfhy aca afde 7 @Y/it contains linear passive elements
b) s8H F@dT urT Wd AT 7 /it contains independent current sources
¢) &R B & @ dehg F7A 7 g1t has magnetic coupling to B
d) 389 ¥ dieear |id WA 7 /it contains independent voltage sources
Ans X" 1.a
X 2.b
e
x 4.d

Question ID : 3499531182
Status : Answered
Chosen Option : 3

QU ‘o worr Rraor somehr 1 R 3w 3S woNe R ST qur PR vE ey
e R ST e

The output of a linear time invariant system can be obtained from its unit impulse response
function and the input function by

a) Hae=t/Convolution

b) HFeret/Addition

¢) IorE/Multiplication

d) Fawgway/Autocorrélation

Ans  off 1.2
XZ.b
X?:.c
x4.d

Question ID : 3499531162
Status : Answered
Chosen Option : 1
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Q.12

UF FEAEEOT A FACA AE F o & faw 3uaher fFar smar B

Program counter in a microprocessor is used to
)3T Hefael FOAA FT=/Store the next instruction
b)arer #r fAsarea # W gEE FEEH F FOEE FA

Store the remaining number of iterations in execution of a loop

¢) geRwares f Bufy &1 Fwza/Store the status of microprocessor
d)fFeafed fFv STaETaneETer S H IaT H HEA T

Store the address of next instruction to be executed

Ans }( 1.a

X2

X 3.c

J 4.d

Question ID : 3499531187
Status : Answered
Chosen Option : 4

Q.13

Ans

afFas wea 10245 g7 ... gl
The conjugate of the complex number 10.245%is
a)-10.245°
b)10.245°
€)102-45°
d)0.1£45°
X 1.
X 2.b
o 3c
< 44

Question ID : 3499531208
Status : Answered
Chosen Option : 3
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Q14 JKfea-weilq 3m3eqe # Qn=1 ¥ @ Felid Gou F Fgwder W 3 a5 oRafda a8 ar ¥ 5w

feufet gerge (Jn, Kn) &1 dsmrer 7 #ta-ar 82('X’ ‘don't care™gf¥a #ar ¥)
In a JK flip flop output Qn=1 and it does not change when a clock pulse is applied. What is
the possible combination of inputs (Jn, Kn) in this condition ( X' denotes don't care)

a) (X, 1)
b) (X, 0)
) (0, 1)
d) (1,1)

Ans x1_a
o 2b
K 3¢
5 4.d

Question ID : 3499531136
Status : Answered
Chosen Option : 2

Q15 F(s) garr fAfése waa f{t) Farcary 9ol # ... @R AW Jrar €

Laplace transform of the function f{t) denoted by F(s) is given by

[ reear
a) “C

[ reresar
b) -

[ roe=ar
c) ‘0

[ reerar
aJe

Ans x1.a
XZ.b
e
x4.d

Question ID : 3499531155
Status : Answered
Chosen Option : 3

@ Teachingninja.in


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


Q18 3w (1012)s = (112)x, X & & ... ¥
If (1012); =(112), , the value of the radix ‘x” is
a)4
b)5
c)6
d) 8
Ans x 1.a
o 2b
K 3¢
/< 4.d

Question ID : 3499531184
Status : Answered
Chosen Option : 2

QL7 v mewmifes & ygw Rre AlS, Ald 3R AL3# 3% SR=i® & Wy oher o & s

At @1 YORY7 #f@Ra frr o difdees & Y\ @1 8K X 8 RAM & R @or &
Y ST I FgEAEaEed ann S Prafaf@a el § #la 3w RAM i e @7

The address bits A15, A14 and A13 of a microprocessor are connected to a 3 to 8 decoder
with outputs designated as YO to Y7. The output Y1 of the decoder is connected to chip select

of an 8K X 8 RAM. Which among the following addresses issued by the microprocessor is
located in this RAM?

a) 0555H
b)1555H
¢) 2555H
d) 4555H

Ans ¢ 1.a
XZ.b
3¢
x4.d

Question ID : 3499531202
Status : Answered
Chosen Option : 3
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Q18 LR Rreer Reomesr # 3R Rt & dheré v @AWt e & @ Prefafa Ry & & T
FA raEy amed @ FT&W dar 2

In FIR filter design, which of the following windows gives least peak side lobe level
assuming equal width of the windows?

a) HrTc/Rectangular
b) aae/Barlett
¢) gA@/Hamming
d) #fF/Hanning
Ans x 1.a
S 2.b
J 3.¢
x 4.d

Question ID :
Status :

Chosen Option :

3499531172

Not Attempted and
Marked For Review

Q.19 fRega-dadra ot 3mula gaeard & o & 2l

The output of a flow meter based on electromagnetic induction has

a)aR@adt amgfa/variable frequency
b) aftadt 3mA/variable amplitude
¢) aRadt amgfa 3R 3mams/variable frequency and amplitude
d) aRadl S 3mam#/variablede amplitude
Ans 1. a
2.b
3.¢
4.d

Note: For this question, discrepancy is found in question/answer. So, This question is
ignored for all candidates.

Question ID : 3499531193
Status : Not Answered
Chosen Option : --
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Q20 T v Ao yads H ar @ e Ra e e g@F #& deear afew @kl ¥ F

afer &1 gar s

The figure shows a three-stage amplifier, each having voltage gain as indicated. Find the total
gain.

Signal R,
- ] 100 200 100

a) 52dB
b) 63 dB
¢) 104 dB
d) 126 dB

Ans X" 1.a
5 2.b
K 3¢
o 4d

Question ID : 3499531132
Status : Answered
Chosen Option : 4

Q2 (14)Rig W aw ¥ =X +2x+1 3 aftrdia () A savrar . B
Slope of the normal to the curve ¥ = ¥* +2x+1 at(1.4)is

a)-0.25
b)-0.5
¢) 0.5
d)1
Ans J 1.a
X 2b
X 3.c
< 44

Question ID : 3499531206
Status : Answered
Chosen Option : 1
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Q22 500VA#r ey W de & AT 1000VA R gart Pafad stwa offa (ara)... §1
The average power delivered by a 1000V A transformer to a pure inductive load of S00VA is

a) S000W
b) 1000W
¢) 500W
d) oW
Ans x 1.a
2.
<3¢
o 4d

Question ID : 3499531151
Status : Answered
Chosen Option : 4

Q.23 UF AT AT A T@ A YN AE HY qod, YN F IHqUd H Aeear S0 FA ¥ 3H

Rgeid & ...... # IgAher fFar s g

A current carrying semi-conductor kept in a magnetic field develops a voltage proportional to
the current. This principle is used in

a) ga=TarATd/ Anemometer
b) ufFRer/Thermistor

¢) a9 dega F7H/Thermocouple
d) gfe-gsira Haew/Hall-effect sensor

Ans X 1.a
XZ.b
XS.C
o 4d

Question ID : 3499531194
Status : Answered
Chosen Option : 4

Q.24 )
PR &ar (%) Aea feeT ... 2/Constant Phase Delay filter is

a) FTIY fheet/Butterworth filter
b) aAfada feet/Chebyshev filter
¢) énfaarer Ree/Elliptic filter

d) 3@« Rreet/Bessel filter

Ans X" 1.a
X 2b
XB.C
(4.(1

Question ID : 3499531139
Status : Not Answered
Chosen Option : --
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Q.25

Ans

el Wear fr fRefdwar L. #/Directivity of an isotropic antenna

c)75

d) ##a/infinity

K 1.a
o 20b
K 3¢
5 4.d

Question ID : 3499531167
Status : Answered
Chosen Option : 2

Q.26

Ans

A Rme aw & o Aead A Vi = Zuli +Z12hbudVs = Zol + Z2 Ledss 1 93E &S g
PR V,wdVodr [[)waldh &9 & affegsa Far @, ar Z,,vaZ0@# ... T AT Bl

In the two port network shown below, if V& V; are expressed in terms of I & I, using the
expressionVi = Znli +Z121&Va = Z1i + Z22 1> then Zi1 and Z: are called

t
Port1 Vi V:  port2

b =

a) faga aRgy gfderar/Open circuit impedance
b) Sg9Y gavFar/Short circuit admittance
¢) 3= gfaarer/Trans impedance

d) 3iararersar/ Trans conductance

o 12
XZ.b
K 3¢
x4.d

Question ID : 3499531154
Status : Answered
Chosen Option : 1
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Q.27

Ans

HFa Iaier A AF (FfEroaronafaarer s . gl
The intrinsic (characteristic)impedance of free space is approximately
a) d=Aa/infinity
b) 377Q
¢) 120Q
d)50Q
S 1a
20
X 3¢
< 4.d

Question ID : 3499531145
Status : Answered
Chosen Option : 2

Q.28

Ans

RA 3R B arffs ofadf & A, A § @& # Jarar ¥, AB, AND warar 3R A+B, OR
garere @ gfafafica awar & ar AL (A'+B)) &1 A F31 §2

If A and B are logical variables, A' represents complement of A, A.B represents AND
operation and A+B represents OR operation, what is the value of A* . (A’+B’)

a) AtAB
b) AB
A’

d) A+B

/X 1.
XZ.b
o 3c
X4.d

Question ID : 3499531186
Status : Answered
Chosen Option : 3

Q.29

Ans

AT HY ZEIAA-R-IRAY AU HeUd T FH FAaren [ ... gl

An analyzer that works on the principle of mass-to-charge ratios of ions is

a) geaAA gargATa/Mass flow meter
b) 3mder-areear gRad®/Charge-to-voltage converter
¢) 3gadaisAd/Refractometer

d) gegara FagAATd/Mass spectrometer
X 1.a

X 2b

X 3.¢

‘f 4.d

Question ID : 3499531195
Status : Not Answered
Chosen Option : --
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Q.30

UF Y GEiFEACHS YavE ¥ fav Rrafat@a F sa-ar e 272

Which of the following is not true for an ideal operational amplifier?
a) CMRR 3¥&d #/CMRR is infinity

b) AR faer sfwr a=a ¥/Differential Mode Gain is infinity

¢) 3safass f{ur @few 3a §/Common Mode Gain is Infinity

d) el gfdarar 3eia &/Input Impedance is infinity

Ans x 1.a
2.
J 3.c
x4
Question ID : 3499531140
Status : Answered
Chosen Option : 3
Q.31
ferfaf@a oy & PEs #= 328 & @& op-amp # £15V weand  gray B amm )
What is the output of the following circuit? Assume that the op-amp is powered from £15V
supply.
20 kohm
1V o—awW— h
40 kohm 60 kohm
2V o—AAM—
3y 60 kohm
Vout
a) +6V
b) -9V
¢) -6V
d) +9V
Ans x 1.a
v
X 3.¢c
X 4.d

Question ID : 3499531141

Status : Answered

Chosen Option : 2

@ Teachingninja.in



Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


Q32 Rz # aeife 1w 6V IR sriE & IR IRRY YT IR A1 GRT SmA ¥1 RL F1 ~geaw 7w
e g aifF 3§F IR-9) F deedr 6V A AR & sne?

The 6V Zener diode shown in Figure has zero Zener resistance and a knee current of SmA.
The minimum value of Ry, so that the voltage across it does not fall below 6V is

50Q
WA

V& ZR l"

=

—i|I|If—

a) 1.2kQ
b) 80 Q
¢)50Q
d)0

Ans ?(1-8
o 2.b
x&c
5 4d

Question ID : 3499531144
Status : Answered
Chosen Option : 2
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Q.33 T Q # Aoear AT T F UF e WF & WR-9X 0T SA1ar 1 gRomdr ey ater &9 2w
8?
The voltage waveform in figure Q is applied across an ideal inductor. What is the resulting
current waveform?

A

v p—

b 1| 2 3 g

v

Figure Q
i 1 fee—
4 b1 2 3 T
[ 1 1\3/ t
v
a) b)

c) d)

Ans (1-3

Question ID : 3499531152
Status : Answered
Chosen Option : 1

Q34 & war wftr =T 3 3T un./In a p-n junction diode the forward current

a) Aecar F WY W_F § A agaar &/varies Linearly with voltage
b) Aeear & WY TWaTA ¥ A FEerar #/varies Exponentially with voltage
¢) dreTal & WY TR T F FeAar ¢/varies Logarithmically with voltage

d) 2R w@ar #/remains constant

Ans X1.a
20b
XB.C
x4.d

Question ID : 3499531198
Status : Answered
Chosen Option : 3
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Q35 o3 A & wfem # 3T @ H wREA 27 % 3K BH 5/7) R ¥ SRFaAN w@GT E A
FaaB F qfier 7 30T A fr wifdear Faer &2

The probability of student A passing an exam is 2/7 and that of B passing is 5/7. If these
probabilities are independent, what is the probability that only B passes the examination

a) 3/7
b) 10/49
¢) 25/49
d)2/7

Ans x1_a
2.
3¢
K 4.d

Question ID : 3499531207
Status : Answered
Chosen Option : 3

Q'36mm$ﬁmwmumgzaﬁmumm$maﬂ ...... FgT ST B
The property of a measuring instrument to give the output very close to the actual value is
termed as

a) gafeer/Sensitivity

b) gaTEdIAT/R epeatability
¢) F&&ar/Precision

d) Farear/Accuracy

Ans X1.a
XZ.b
XS.C
o 4d

Question ID : 3499531160
Status : Answered
Chosen Option : 4

Q37 0.2H e 2.45H 9&ca aral & Fefordl # JFAa R Srar @ 3R 3a 3deT 9aed 0.14H

¥ LIHA AOTF ....... 2
Two coils having inductance of 0.2H and 2.45H are coupled and their mutual inductance is
0.14H. The coefficient of coupling is

a) 1

b) 0.2
¢) 0.1
d) 0.5

Ans % 1.a
20
XB.C
x4.d

Question ID : 3499531157
Status : Answered
Chosen Option : 2
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Ans

Operational amplifier circuit given below behaves as

Vin—"WWA oV

+ out

a) &g gRad®/Log Converter

b) b) wfaerg aRad=/Antilog Converter
¢) ¥u=1 9R9Y/Clamping Circuit

d) &3 9R9x/Clipping Circuit

o 12
5 2.b
3¢
< 4.d

Question ID : 3499531134
Status : Answered
Chosen Option : 1

Q.39

Ans

UF I3AfATS HAd ciforee wats s & Qv AwaRf@a 7 & sla-ar 39 58 22

Which of the following statement about a common collector transistor amplifier is true?

a) Y @t el gfderan/Very low input impedance
b) #f¥ 3=a @ete afderen/Very high output impedance
¢) g&¢ dreear afeu/Unity voltage gain

d) s#1$ arr @feu/Unity current gain

K la
XZ.b
o 3c
x4.d

Question ID : 3499531146
Status : Answered
Chosen Option : 3
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Q.40

Ans

afeul0% v& op-amp Ya¥® & 0.5 V Rrew 3w @ 25kHz 3mgfa & @ va saadh w6
Fr yafa F ¥ WA fRAr o ¥9gFd op-amp N FYAGH T & FT @A ART?

An op-amp amplifier of gain 10 is used to amplify a sinusoidal signal with a peak amplitude
of 0.5 V and frequency of 25kHz. What should be the minimum slew rate of the op-amp
used?

a) 0.185V/us

b) 0.385 V/us

¢) 0.785 V/us

d) 0.985 V/us
K la
5 2.b
e
X 4.d

Question ID : 3499531147
Status : Answered
Chosen Option : 3

Q.41

Ans

Hga o IR A FArlh o IR H R A F Qv wew sugwd Ao fur sa-ar @2
Which control method is best suitable to eliminate steady state error in closed loop response?

a) HrgaTfA/Proportional
b) wHATEA/ Integral
¢) 3a&waat/Derivative

d) s @EF/0On/Off control

K la
o 2.b
K 8c
x4.d

Question ID : 3499531176
Status : Answered
Chosen Option : 2
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% frfafad WRuw # 2kQ FRRUF & FRR A e R 87
In the following circuit, what is the voltage across 2 k< resistor?

1kQ ﬁ 3kQ
12V =
2ka

a) OV
b) 4V
c) &V
d) 12V

Ans }(1.a
2.
3¢
K 4.d

Question ID : 3499531143
Status : Answered
Chosen Option : 3

Q43 sy TR ydx — xdy=0%T ZITTH & ....... ]

The general solution of the differential equation ydx — xdy=0

a) y=0Cx
b)y = Ce*
cyax+by=C
dx*+y*=C
Ans jma

< 2b
X&c

X 4.d

Question ID : 3499531210
Status : Answered
Chosen Option : 1
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Q44w 5V drecar B @1 HiaRe SRRIT S0 ¥ O ..... B Hfrwcer uf¥Fa 1 HEROT FT B
A 5V voltage source has 50 Ohms internal resistance. It transfers maximum power of

a) 125 mWa/to 100 3 &rz/Ohms load d&
b) 25 mWa/to 50 A &z/Ohms loadas

¢) 125 mWa/to 50 3\ @rz/Ohms loadas
d) 25 mWa/to 100 31 #r2/Ohms loadas

Ans X1_a
S 2.b
e
< 4.d

Question ID : 3499531197
Status : Answered
Chosen Option : 3

Q.45 us 3Afrss IcuoTd wads # 65T va O Taa afey ¥ PR IcEeE 3UART FuT #Y ger
ar amar &, ar F=2r ge?

A common emitter amplifier has small signal gain of 65. What will happen if the emitter
bypass capacitor is removed?

a)ordY EFa afew &A 2y /Small signal gain decreases
by w¥a afewr affia 2l &/Small signal gain increases

¢) e T amr aftfa g }/DC collector current increases
d) yats 3Farl @ snar #/Amplifier becomes unstable

Ans  off 1.2
XZ.b
K3
X4.d

Question ID : 3499531179
Status : Answered
Chosen Option : 1
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Q46 ARy R@T T URT FETET & RMS A ........... 3
The RMS value of the current waveform shown below is

Im

a)0.5Im

b) I

¢) 2Im

d) 0.7071y

Ans \( 1.a

< 2.b
3¢
< 4.d

Question ID : 3499531203
Status : Answered
Chosen Option : 1

Q4 rafafea # ¥ FA- e #1 3mIeTe Bt @ At R A AR SHF Wi e 3o @
Which of the following gates has output LOW if and only if all the inputs are HIGH?

a) NOR

b) XOR
¢) NAND

d) AND
Ans x 1.a
X 2.b
3¢
x 4.d

Question ID : 3499531190
Status : Answered
Chosen Option : 3
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Q48 Erafafa W9y &1 aYaa THI-FI 34T &7

Ans

What is the time period of oscillation of the following circuit?

] Vee=10V

10kQ 1kQ 1kQ 10kQ
— f—a
1uF 1pF
10kQ

a) 1.38ms
b) 0.69ms
¢) 13.8ms
d) 6.9ms

o 1a
5 2.b
<3¢
< 4.d

Question ID : 3499531138
Status : Not Answered
Chosen Option : --

Q49 afadrr st womeh & s wHfaF 3R 3 rad/sec. X JrawfEa IGR 2.4 rad/seck

Ans

HIACA AT ... 2l

2

For a second order system the undamped natural frequency is 3 rad/sec. and the damped
frequency is 2.4 rad/sec. The damping ratio is

2) 0.6
b) 0.4
) 025
d) 0.8

o a
x2.b
x&c
x4.d

Question ID : 3499531181
Status : Answered
Chosen Option : 1
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Q.50

Ans

1000Hz 3@ 3mgfa 3 950Hz @ 1050Hz =X 39 afdd R & @y v Ao seam
qRay & IO FRF Q... gl

The quality factor Q in a series resonant circuit with resonant frequencyl000Hz and half
power points at 950Hz and 1050Hz is

a) 100

b) 10

c)l

d) 0.5
K 1a
20
K 3¢
< 4.d

Question ID : 3499531153
Status : Answered
Chosen Option : 2

Q.51

Ans

The transfer function of a linear system is the

a) Rl v(t) 3R frder vi(t)Fr 3rqara/Ratio of the output vo(t) and input vi(t)

b) fdter iR 3w & sr@@as @1 3rgaTa/Ratio of the derivatives of the output and the input
¢) Tt arfde aRRFUY e @ gu w3k e & areary SR &1 3iard

Ratio of the Laplace transform of the output and that of the input with all initial conditions

Zeros

d) z=# & 1% s F8/None of these
K la
XZ.b
o 3c
x4.d

Question ID : 3499531173
Status : Answered
Chosen Option : 3

Q.52

Ans

AT F OF FA HEd g5 F Feoiada gRe Aol @ o 8 gram
The trigonometric Fourier series of an even periodic function of time does not have

a) 3 eAd/The d. c. term
b) s #/Cosine terms
¢) |3t #H/Sine terms
d) fAww Ay @#/0dd harmonic terms
x 1.a
x 2.b
( 3.¢c
X 4.d

Question ID : 3499531163
Status : Answered
Chosen Option : 3
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Q53 = a3 yRfNT ZHE TAUT B FT ACHH TR ... ¥

The Laplace transform of a unit ramp function starting att = a is
a) e™®/s”

b)e™®/(s+a)?

¢)1/(s+a)?

d)a/s’

Ans  of 1.2
S 2.
K3
K 4.d

Question ID : 3499531174
Status : Answered
Chosen Option : 1

Q54 wad azr uatens A 1 & TR vw SR 2% b weandt garn At B o awar 27
What is the largest positive value that can be represented by an 8 bit 2’s complement number

a) 127
b) 128
¢) 255
d) 256

Ans J1.a
K2
X3.C
K 4.d

Question ID : 3499531183
Status : Answered
Chosen Option : 1
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Q95 frafaf@a arolr sEwea Ieara @ et sffreeor o @

The following table gives damping ratio and output characteristic.

Ans

9fFa &. JaFeA  HqATd Jrsgfenar

Row No. Damping ratio Response

1 =0 wifas rarfea/Critically damped
2 0<d<1 e yaAfea/Under damped

3 =1 3 ra#fRa/Over damped

4 3 >1 eAaH A/ Un damped

@& Ao @ 9fFT (/) @ ggmfAe/Identify the correctly matched row

a) 9fFa/Row 1
b) dfFa/Row 2
¢) 9fFa/Row 3
d) dfFa/Row 4
K 1a
o 20b

XS.C
/< 4.d

Question ID : 3499531177
Status : Answered
Chosen Option : 2

Q.56

Ans

e arv K #u ganr sfafaftea B mn a& oow Rl (A, AF @@ & [fdse #war @)
Write the logic function represented by the given K map (A' denotes complement of A)

a) AB+C
b) AB+BC+CA
¢) C+AB+A’'B’
d) C'+A’B’+AB
x 1.a
x 2.b
x 3.c
 4d

~BCo0 01 11 10

i

0 1

A
0 1
1 1

0

1 1

Question ID : 3499531199
Status : Answered
Chosen Option : 4
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Q.57

Ans

FIA-HT AT Fold T FAA ol F wfafafe wwar 87
Which transfer function represents a stable system

s—1
a)s+1
s?-1
b)s? +2s5+2

s-1
c) s242s42

d) 3ud#a @sfi/All the above
X 1.a
S 2.b
x 3.c
o 4.d

Question ID : 3499531178
Status : Answered
Chosen Option : 4

Q.58

Ans

AT F1 AF%a fraar § B o (2,7), (2.3) 3R (5.3)%?
What is the area of the triangle having vertices (2,7), (2,3) and (5,3)
a) 6 gfA</units
b) 10.5 FfA/units
¢) 21 gfA</units
d) 24 gfae/units
J 1.a
X 2b
X 3.¢c
< 44

Question ID : 3499531205
Status : Answered
Chosen Option : 1
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Q.59

Ans

ord f{t) F HRAT TR F(w)E1 F(t) F1 BRT w9

The function f{t) has a Fourier transform F(w). The Fourier transform of F(t) is

—
a) an(w)

1

b) 27 f(-w)

C)Z”f(—w)

X1.a
2.
3¢
X 4.d

d) 39d%a # & % 3t 7@&/None of the above

Question ID : 3499531161
Status : Answered
Chosen Option : 3

Q.60

Ans

7 qufiv v A 3R B & 3R-9R aRRant & Aof-waier Faee o gageauiiar

The total equivalent capacitance of the series parallel combination of capacitors across A and

B shown in figure is

12pF

12pF
||

12pF
|l

v
c1

L_c3
8uF

ca

s 6
8uF

c7

.

L C9

=
r;ZMF

|

B —|

c2

12pF
a) 4uF
b) 6pF
¢) 16uF
d) 27uF

o 12
XZ.b
X3.c
x4.d

cs
12pF

cs
12pF

Question ID : 3499531131
Status : Answered
Chosen Option : 1
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Q.61

FeaTely WHEF SART A A @ F1 Rewvda g ot & A ... @
The condition for achieving distortion-less demodulation of amplitude modulated signal using
an envelope detector is

a)Afgas aaiw<0/Modulation index <0
b)Afgea Faswiw<1/Modulation index <1

c)#ATzaa gaaiw>1/Modulation index >1
d) Aiger gadis ¥ Fd/independent of modulation index

Ans x 1.a
( 2.b
K 3¢
X 4
Question ID : 3499531165
Status : Answered
Chosen Option : 2
Q.62 . .
. O whg oAt # arg g gfeEe aEat F R WHIE F FA A ¥ A S R
Twisting of live and return lines in long signal lines is done to reduce the effect of
a) faegd &7 F7w=/Electric field coupling
b) ey &7 FaAa/Magnetic field coupling
¢) &1 dreear/transient voltages
d) sp-arait & T@er/formation of ground loops
Ans x 1.a
V2o
x 3.¢c
X 4o
Question ID : 3499531158
Status : Answered
Chosen Option : 2
.63
Q T AT F WY wF Hey 6-fFeDAC, ‘000010° @y F v 0.1V PR deear &
i (001010°%F frefets = &7
An ideal 6-bit DAC with zero offset gives output voltage of 0.1V for an input *000010°.
What is the output for input “001010”
a) 0.45V
b) 0.5V
¢) 3.15V
d) 0.75V
Ans

X1.a
20
XB.C
x4.d

Question ID : 3499531189
Status : Answered
Chosen Option : 2
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Q.64

10 kHz #r #fOean 3mafie e d6d aefFare @ W FEwd E a a0 J7=4 & & &

FATH ... ¢
A signal of maximum frequency of 10 kHz is sampled at Nyquist rate. The time interval
between two successive samples is

a) 50us
b) 100us
c) 500us
d) 1000us
Ans ( 1.a
K 2.b
K 3¢
X a0
Question ID : 3499531142
Status : Answered
Chosen Option : 1
Q.65
frfaf@a Fuat # #ia wr@d §/Which of the following statements is FALSE
a) UF FA1S yoelr gAe aReefa @t & fRreREefoa BEH # seoe e ®
A stable system always produces bounded outputs for bounded inputs
b) sfaza goreh @7 ¥ e fav #1 RfdFa awg acevm = ndq @A, Faa n <= nldq @Ry
W R wve ¥
A causal system is one for which the output for any discrete time instantn = n, depends on
the input for n <= n, only
¢) 3% golier 3refear # 3afd & 3R « FIR 3 1R & 9 & gomelt Fr aefierd B Srar &
Systems are classified as FIR and IIR based on the duration of unit impulse response
d) ar gomelr S e PRY F v e BE & 3 ag gt @ gomelr e
A system which gives zero output for zero input is always a linear system
Ans

X1.a
XZ.b
X3.C
o 4.d

Question ID : 3499531169
Status : Answered
Chosen Option : 4
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Q.66

Ans

RL #off qiigyr & s9 gfady g 9fdara v @@= &, ar ...

In an RL series circuit, when resistance and reactance are equal

a) UmT Aeear ¥ 90° geaar WX & F/current lags voltage by 90°
b) amr dreear & 90° AT WX E ¥/current leads voltage by 90°
¢) 4mT dteear & 45° gegar @ A /current lags voltage by 45°

d) amr areear § 45° 3T WX @I #/current leads voltage by 45°
& 1a
S 2.b
e
X 4d

Question ID : 3499531150
Status : Answered
Chosen Option : 3

Q.67

Ans

F o7 gatE & EE wwor fr gfderar 800 Q #18Q ¥R it gfdarr ¥ A @ F v 0
e SrewiR &1 3T B S @1t gRedii 1 9T 3 . R

The output stage of an Audio Amplifier has impedance of 800 Q. An output transformer is
used to match it’s impedance to an 8 Q speaker. The turns ratio of output transformer is

a) 100:1

b) 10:1

c) I:1

d) I:8

K la
v
K 3¢
x4.d

Question ID : 3499531137
Status : Answered
Chosen Option : 2

Q.68

Ans

5V & @iy T T W 0F gE-ufeRius g Fded 6 mV & @FdA &ar ¥ 3R s8dhr
ganfear 2 mV/V/kPa §, & #1fda g@ ... 2l

A piezo-resistive pressure sensor gives an output of 6 mV when excited with 5 V. If its
sensitivity is 2 mV/V/kPa, the pressure measured is

a) 6 kPa

b) 0.6 kPa
¢) 60 kPa
d)3 kPa

X1.a
jZ.b
XB.C
X4.d

Question ID : 3499531192
Status : Answered
Chosen Option : 2
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Q'”:hﬁ%umahma_amﬂmaﬁmm ...... gl
The function denoted by the waveform given below is

’

f

A

E-N
'
w
N
Lt
=)
L
~N
w
-
L

a) UF ¥H Wel=l/An even function

b) & WA ®aw/An odd function

¢) g% | were/Unit step function

d) z#1$ gvie wert/Unit impulse function

Ans jma
2.
<3¢
X 4.4

Question ID : 3499531156
Status : Answered
Chosen Option : 1

Q70 s o ity # @ e A @ B &%0 W @ 2 €, A Rods IR A 9T 2W 1 Re

#; afRfg & ]

Power dissipated across Rs in the circuit shown below is 2W when terminals A and B are
connected to a DC source. The power dissipated in Rz is

R; Rz
— W——MW——
1Q 3Q
[ — —
A Fs B
WNA—————
80
a) I W
b)15W
c) 2W
d) 3W

Ans X" 1.a
X 2.b
XG.C
 4d

Question ID : 3499531171
Status : Answered
Chosen Option : 4
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ot R, Aol RLC oftwyr & geaffar &1 oftwyr 6 segendr smafy i srgeme & sfdarar &= @2

The figure shows series RLC circuit. What is the resonant frequency of the circuit and the
impedance at resonance?

R L c
INYYA =

100 uH 100 pF

230VAC

a) 1592 kHz, 100Q
b) 159.2 kHz, 100Q
¢) 1592 kHz, 10 Q

d) 159.2 kHz, 10 Q

Ans }( 1.a

X2

J 3.c

x4

Question ID : 3499531133
Status : Answered
Chosen Option : 3

Q.72

e wdlet &1 sRffte @ & v o PSKawufRa 33fr w=m &7
0°,45°,90°135°,180°,225°,270%# 315°, Ferr fawagsr AT HT 9T FaT 21 v 9OMHz ags
& Far F 9y I3 v quas F ¥ ¥ oRafia B srar &) wdr wdvr sEw(gge)qEer =2
&

A PSK based digital communication system uses phase shift values of
0°.45°,90°,135°,180°225°.270° and 315" to represent different symbols. The phase of a

90MHz carrier is changed at the rate of one million symbols per second. What is the
information throughput involved?

a) 1 Mbps
b) 3 Mbps
¢) 30 Mbps
d) 90 Mbps
Ans x 1. a
‘f 2.b
X 3.c
X 4.d

Question ID : 3499531200
Status : Answered
Chosen Option : 2
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Q.73

Ans

R sgmn € 4 + € 8 &y e ey Fm R
amn 3w

What is the minimum period of the discrete sequence € o Al
a) 4
b) 6
c) 12
d) 24

K 1.a

S 2.b

J 3.¢c

5 4.d

Question ID : 3499531166
Status : Answered
Chosen Option : 3

Q.74

Ans

13 ‘11001011° 3w “10000111° F < & T gft #=r 2
What is the hamming distance between the codes “11001011° and “10000111°
a) 2
b) 3
c)4
d)5
x 1.a
(z_b
X 3.¢c
X 4.d

Question ID : 3499531201
Status : Not Answered
Chosen Option : --

Q.75

Ans

TaET 3 A A e ¥ ot 3k Reufa ... st &= & @ v s g%ar )

Shifting the register content to left by two bits can be used to implement
a) 4371/ Multiplication by 4
b) 44f3sms=/Division by 4
¢) 2 ¥or/Multiplication by 2
d) 2 afdsmar=1/Division by2
i 1.a
X 2.b
X 3.c
x 4.d

Question ID : 3499531185
Status : Answered
Chosen Option : 1
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Q76 vk ua & e # 3 em’/s & ¥ T @ W@ ¥ THT A F BhW R ¥ e gnh anw
et frey Y dar$ 12870 B

The volume of a cube is increasing at the rate of 3 cm?/s. At what rate is the surface area
increasing when the length of an edge is 12 cm

a) 1 ecm?s
b) 2 cm¥s
¢) 3 cm?/s

d) 4 cm?/s
Ans jma
S 2.b
K 3¢
X 4.d

Question ID : 3499531209
Status : Answered
Chosen Option : 1

77 oy ame oy # ufrY RO g e . B

The current through the resistance Rz in the given circuit is

R, A Ra

10 O 100
i
=15v 109‘5 R, 7.5v =
B

a) 0.25A from A to B/0.25AA & @57 B @&
b) 0.25A from B to A/0.25AB & a3T A J&
¢) 0.5A from Ato B/0.5SAA & @57 B a&
d) 0.5A from B to A/0.SAB® a0 A a&

Ans J1.a
X 2b
X&c
X 4.d

Question ID : 3499531135
Status : Answered
Chosen Option : 1
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Q78 spw v aRww # @ Rigyt & &9 @1 Remiw V', @ ‘Q’ IRAW F et R ¥ 39 R
g6 o I & Qv R o w o gl
If the potential difference between two points in a circuit is “V’, the work done in moving a
charge ‘Q’ from lower potential to higher potential is

a)V/Q
b) VQ
c) QV
d) VQ
Ans x 1.a
.j 2.b
X 3.¢c
}( 4.d

Question ID : 3499531149
Status : Answered
Chosen Option : 2

QT F e 2.0 W 333 vw Whe F AfeAwe AT . B
A rocket flying at Mach number of 2.0 has the velocity of approximately

a) 1080 frardrey 9fy ger/km/hr
b) 2470 fFeireT 9fa ger/km/hr
¢) 3240 fFarAey 9fa gevkm/hr

d) 3600 frer#reT ufd ger/km/hr

Ans X 1.a
v
XS.C
X4.d

Question ID : 3499531191
Status : Not Answered
Chosen Option : --
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Q.80 3mraw & v a7 wd a8 ¥?
Which is not true about an interrupt

a) IR # FEAEEOE, aAAE e F e @ aar € 3R 3y o dar e FRar @
With an interrupt, the microprocessor completes current instruction execution and services
the request

b) Y st srepeer F el aUTA N IWAY Af BRA S A

Non maskable interrupt cannot be disabled by any instruction
¢) AT Hr FHAT F g, HEy FARY Adfrd w0 R s @

After servicing the interrupt, the main program is suspended
d) geAaarts & o gEdw A Hake Fredm FaET & @ §
Microprocessor can have external hardware and/or internal software interrupts
Ans X1 g
K 2.b
J 3.c
K4

Question ID : 3499531188
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